Average Velocity Ch8 Physics
Science 10 Notes
Speed and Velocity
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Determining Speed/Velocity from a Position Time Graph
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Solving Problems Involving Time, Displacement and Velocity —

e You may be familiar with the triangle:

0 Just use the vector measurements
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What is the average velocity for a dog that
takes 4.0s to run forward 14m?
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A boat travels 280m [E] in 120s. What is the
boat’s average velocity?
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What is the displacement of a bicycle that
travels 8.0m/s [N] for 15s?
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A person, originally starting at the starting line,
runs west at 6.5m/s. What is the runner’s
displacement after 12s?

How long will it take cat walking north at
+0.80m/s to travel 12m [N]?
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A car is driving at 15m/s forward. How long
will it take to pass through an intersection that
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Converting m/s and km/h
note: 1km = 1000m

e We think about speed/velocity as a

and 1h = 3600s
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Example: convert 90 km/h into m/s.
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